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“Maturation refers to the emergence of an organism’s genetic
potential. It consists of a series of programmed changes” —
stated by

1. Anderson
2 Erickson
3. Gessel

4 Craig
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‘Cephalocaudal development’

1. Proceeds in the direction of longitudinal axis, i.e., from
head to foot.

2. Proceeds from foot to head

3. is done at a time in head and feet

4. depends on the size of the head.
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In solitary play, children will

1. play with others

2 play alone

3. share play materials with others
4

play same game throughout the day
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According to Piaget, children will learn the concept of object
permanence during.

1. Sensory motor stage.

2. Pre-operational stage.

3. Concrete operational stage.
4. Formal operational stage.
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“The moral development of a person depends on the person’s
cognitive abilities” opined by

1. Chomsky
2 Tolman
3. Piaget

4 Kohlberg
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According to Erickson the Psychosocial critical situation
faced by the children during Adolescence is

1. Trust Vs Mistrust

2 Autonomy Vs Doubt

3. Role identity Vs Role confusion

4 Integrity Vs Despair
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The approximate 1Q of slow learners is
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One of the following is not a sub test of Differential Aptitude
Test (DAT).

1. Picture Completion Test
2 Verbal Reasoning

3. Spatial Relations
4

Mechanical Reasoning

808 A" §HBACHS eperé 8F (DAT) &538% S0
L DEyeses 985

2. AN IS0

3. %:6 Vo207

4. oro|®5 IFSS0

The secretion of the following gland regulates Calcium level
in blood.

1. Adrenal gland
2 Thyroid gland
3. Parathyroid gland
4

Pancreas
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10.

11.

Rishi wants to purchase a car but he is scared of its
maintenance. The conflict of Rishi is.

1. Approach - Approach

2 Avoidance - Avoidance
3. Approach - Avoidance
4

Double approach - Avoidance
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Abhishek was beaten by his class teacher for no reason.
Abhishek got angry on his teacher, but showed his anger on
his younger brother at home. Here the defense mechanism
used is

1. Displacement
2. Repression
3. Identification
4. Regression
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To assess attitude, ‘Equal appearing interval scale’ was
prepared by

1. Guttman
2. Likert

3. Thorndike
4. Thurston
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Ramu learnt Russian language. Now he wants to learn
cycling. Here the transfer of learning would be.

1. Positive
2 Negative
3. Zero

4 Bilateral
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Use of Mnemonics will enhance

1. Memory

2 Forgetting
3. Interference
4 Deja vu
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Swathi learnt a set of 30 meaningless words in 30 attempts.
After few days she was asked to relearn the same material.
This time she took 12 attempts to relearn the material. Her
saving score is.
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Theory of hierarchy of needs was proposed by

1.

2
3.
4

Watson
Hurlock
Maslow

Atkinson
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One of the following is not related to psychomotor domain.
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Imitation
Responding
Precision

Articulation
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19.

According to Vygotsky the lower level mental function is
1. Questioning

2 Analysis

3. Synthesis

4 Creative thinking
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In Pavlov experiment, the dog salivated when food is given
along with the sound of bell. Here the salivation of dog is a

1. Conditioned stimulus
2. Conditioned response
3. Unconditioned stimulus
4. Unconditioned response
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21.

The following law of learning was not proposed by Thorndike

1. Law of readiness

2. Law of exercise

3. Law of reinforcement
4. Law of effect
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One among the following is not a Gestaltist
1. Kohler

2 Koffka

3. Erickson

4 Wertheimer
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The American psychologists Miller and Dollard are related to
the following theory.

1.

2
3.
4

Trial and error theory
Social learning theory
Classical conditioning

Operant conditioning
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As per RTE Act - 2009 the number of teachers required for a
primary school of strength 125 is
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Non-Directive counseling was introduced by

1. Freud

2 Williamson
3. Rogers

4 Thorne
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4.

Raju is a school Headmaster. He always insists teachers to
follow his orders whether they like it or not. The leadership
style of Raju is

1. Participatory leadership
2 Directive leadership

3. Permissive leadership
4

Laissez-faire leadership
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27.

According to PWD Act 1995 to certify a person as hearing
impaired, he should have the hearing loss of following
decibels or more in better ear.

1.

2
3.
4

30 dBHL
60 dBHL
20 dBHL
35 dBHL
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The method explained by Kilpatrick is

1.

2
3.
4

Lecture method
Heuristic method
Project method

Historical method
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Student centered method among the following is
1. Lecture method

2. Heuristic method

3. Historical method
4.

Lecture demonstration method
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As per NCF 2005, Mathematisation means -
1. Logical thinking

2 Giving more home work

3. Teaching Mathematics
4

Conducting more number of examinations in
Mathematics
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30.

Audio Visual aid among the following is

1. Computer

2. Slides

3. Models

4. Bulletin Board
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61.

62.

63.

The Bonsai tree can’t even withstand a small dust storm or
squall.

Choose the meaning of the word ‘squall’.

1. a piece of cloth

2 a long stick

3. a strong wind
4

a heavy rain

Could light also change its nature when passed through a
transparent medicine ?

Choose the synonym of the word ‘transparent’.

1. limpid

2 obscure
3. important
4

pleasant

The crew of the ship was very friendly and courteous.

Choose the antonym of the word ‘courteous’

1. affable

2 civil

3. rude

4 respectful



64.

65.

66.

67.

Choose the word with wrong spelling
1. commemorate

2 epilipsy
3. virulent
4

muscum

I sat at the window and looked out at my cold white garden.

Choose the meaning of the phrasal verb “looked out”.

1. admired
2 praised
3. placed

4 watched

Choose the word with a suffix.

1. promise
2. hurriedly
3. spread
4. leave

Choose the conjunction that can be used to write a complex
sentence.

1. but
2 else
3. because
4

and
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69.

70.

71.

Choose the grammatically correct sentence from

following.

1. One of my friend is visiting me tomorrow

2. One of my friend are visiting me tomorrow.
3. One of my friends are visiting me tomorrow.
4. One of my friends is visiting me tomorrow.

Raman ........... his discovery on March 16, 1928.

Choose the correct form of verb that fits the blank.

1. announced

2 has announced

3. will announce

4 will have announced

You can eat as much as you like.

Choose the part of speech of the word ‘much’.
1. a common noun

2 a noun

3. an adjective
4

a conjunction

the

Stephen Hawking, who discovered Hawking Radiation, was a

great scientist.

This sentence has

1. a noun clause

2 a conditional clause

3. a non-defining relative clause
4

a defining relative clause
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73.

74.

I shall have .......... this novel by the end of next week.

Choose the correct form of verb that fits the blank.

1. had read

2 read

3. has read

4 reads

Rambabuis ................ English teacher in a high school.

Choose the correct article that fits the blank.

l. a

2 an

3. the

4 No article needed.

[ am not acquainted ............ this area.

Choose the correct preposition that fits the blank.

1.

2
3.
4

to
for
with

in
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77.

Puru is braver than most other Kings in the world.

Choose the superlative degree of this sentence.

1.

2
3.
4

Puru is one of the bravest kings in the world.
Very few kings in the world are as brave as Puru.
All the kings in the world are as brave as Puru.

No other king is as brave as Puru in the world.

You are staying in the town, aren’t you ?

This sentence indicates;

1.

2
3.
4

Suggestion
Request
Permission

Confirmation

He draws a salary of two thousand five hundred rupees.

Choose the correct question tag of the sentence.

1.

2
3.
4

isn’t it ?
doesn’t he ?
does he ?

will he ?
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80.

The teacher said to Ravi, “You are absolutely right”.

Choose the correct reported speech of the sentence.

1. The teacher said to Ravi that he is absolutely right.

2 The teacher said to Ravi that he was absolutely right.
3. The teacher told Ravi that he was absolutely right.

4 The teacher told Ravi that you are absolutely right.

Man cuts down hundreds of trees every year.

Choose the passive voice of the sentence.

1. Hundreds of trees are cut down by man every year.

2. Every year man cuts down by man of trees.

3. Hundreds of trees are being cut down by man every
year.

4. Hundreds of trees were cut down by man every year.

Dad says, “I know a little. There are about six hundred
islands. They are located between Indias coast and Myanmar.

Choose the word in the sentence that should contain an
apostrophe.
1. Indias
2 there are
3. they are
4

1slands



In a formal letter the name given to the address and date
written at the top is:

1. Salutation
2 Heading
3. Body

4 Closing

Choose the list of words in the correct alphabetical order.

1. command, commander, commanding, commandant
2 commander, command, commandant, commanding
3. commander, commandant, commanding, command
4 command, commandant, commander, commanding

Read the passage and choose the correct answer to the
question given after.

Tagore’s early contact with nature helped him acquire the
serenity of mood that distinguished him all his life. It was in
his garden that he came to understand the principle of
harmony that was at work throughout the universe.

Tagore was a distinguished man because of;

l. his love for nature

2 his writing about nature

3. his knowledge about nature
4

his serenity of mood acquired from nature



&4.

85.

86.

Read the passage and choose the correct answer to the
question given after.

Bunny was a rabbit and it was always in the company of
animals. One day he heard a pack of hunting dogs and was
afraid of them. He asked the bear, the monkey, the zebra for
help but could not get.

Bunny asked the monkey for help because;

1. it was a rabbit

2 it lived in a forest

3. it did not get help from the tiger

4 it may be killed by hunting dogs.

Choose the structural word.

1. book
2. red
3. but
4. bed

The reading that is useful for getting every detail of the text
is;

1. extensive reading
2 intensive reading
3. slow reading

4 graphic reading
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The purpose of ‘activity packs’ prepared by a teacher is;

1. to decrease the burden of homework.
2 to increase the amount of homework.
3. to supplement learning in the regular classrooms.
4 to encourage children to finish their work in time.

The following is an important feature of Grammar
Translation Method.

1. Having elaborated explanations of grammar.

2 Having limited explanations of language functions.

3. Having elaborated explanations of language functions.
4

Having limited explanations of grammar.

Summative evaluation is;

1. a process of ongoing feedback on performance

2 a process of obtaining performance ratings

3. a process of identifying the areas of improvement
4 a process of identifying the problems of homework

The following needs the ability to analyse.

1. Listening to communicate
2 Listening for enjoyment

3. Listening to evaluate

4 Listening to solve problems
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The ratio of ¥ 5and< 0.50 is
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1.

2
3.
4

100 : 1
50:1
10:1
5:1
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If \/17.64 = 4.2 then the value of +/0.001764 is
V17.64 =4.2 29003 +0.001764 dexns

1. 0.42

2 0.042

3. 0.0042
4 0.00042

4> = 256 then the value of x is
47X =256 9005 x e

1. 1

2. 2
3. 3
4. 4

: 1
The interest on Rs. 62,500 for 15 year at 8% per annum

compounded half yearly is (in rupees)
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The following four digit number known as ‘Kaprekar’s

constant’
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1. 7641
2 7146
3. 6741
4 6174

30 men can finish a work in 17 days. To finish the same

work in 10 days the number of extra men required is
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99.

Tushar bought one dozen lemons at Rs.60 and sold at the rate

of Rs.40 per 10 then the percentage of gain or loss

1.

2
3.
4

10% loss
10% gain
20% loss
20% gain

S8 28 Gl IYTAHOD Ko 60 ' 10 A0S aHen
o1 40 TIPS ©0)F 9SS 5% oreso Bor S TS0

1.

2
3.
4

10% Sgo
10% ergso
20% S0
20% orlo

5 x 10000+0 x 1000 +8 x 100+ 0 x 10+ 7 x 1 is same as

5 x 10000 +0 x 1000+ 8 x 100+0 x 10+7 x 1%

DITPIRISE
l. 50087
2 50807
3. 5807
4 5087



100.

101.

102.

The seven digit number 7254 * 98 is divisible by 22 then the
digit at * is

7254 * 98 93 HZoge dogpg 22 3 éO%i}Zlom eTPROSIES *
égsoes‘s EOSIODS @0T

1. 0
2 1
3. 2
4 6

No. of lines passing through five points in which any three of

them are non-collinear is

DR 0505 DBPAITEN 2 0 DOHHO K05 ASHEOR

[efNS) dogpg
1. 10
2 9
3. 8

4 5

The number of lines of symmetry in 45°—45°—-90° set square
is
45°—45°-90° &3 S0 &0t TPAL FRS Tpo

260235

1. 0
2 1
3. 2
4 3



103.

104.

105.

The following can be the length of the third side of a triangle,

whose two sides are 18 cm and 14 cm is (in cms)

18 290.25 508050 14 0.2 oKk sherenne SOAS
(2028 (308 FosS® Somrss abmon &osKOR
(20.2.08%

1. 3
2. 4
3.5
4, 32

The area of a semi-circle of radius ‘4r’ units is in sq. units

“Ar” 050 TGEOT SORS PSS JTego Sidhrmes’

1. 12 1172
2 8 IIr?
3. 411
4 2 IIr°

Area of a right angled triangle is 150 cm®. If one of its

perpendicular sides is 20 cm then its perimeter is (in cms)

2.8 0o’ (@4ba JTego 150 202", ©ow8%mo SOAS
Bz oS’ a5 20 0.0, @anS e (Habes
ST S (20.20.08)

l. 20
2 35
3. 50
4 60



106. The diagonal of a square is 18cm then the side of a square is

(in cms)

2.8 OB SPO 18 0.2, ©00S T 20m0 (0.20.08°)

1. 6
2. 9

3. 942
4. 1842

4 3 2
107. If n =4 then the value of n—+n—+n— is
4 2 4

4 3 2
n

n=4eo059% L+l fens
4 2 4

1. 28
2. 84
3. 100
4. 112
2 1

108. If Ex—ax = 4 then the value of x is

%x—lx =4 9003 X’ S
1. 4

2. 8
3. 12
4. 24



109. If the median of x, 2x, 4x is 12. Then mean of the data is

X, 2x, 4x © Q0T DRGS0 12 8o E&0¥0 S0y,

&90§$5JC5§3530
1. 6
2 12
3. 14
4 24

- x,—A
110. In the formula x = A+Z;N for finding the arithmetic

mean by deviation method ‘A’ indicates

1. Frequency
2 Estimated mean
3. Deviation
4

Mid values

DSOS HEBS® WOEIEFI0 SR w0

_ —A
Y= A+ZX’T S A D BOHEDS

1. %":‘6:@:650

2. G320 WS DK
3. AWOS0

4.

;536553@3;5



111.

112.

113.

The tally mark that represents the number ‘7’

TS0 T BGHOT KeaSVIN0

ZZZ

The value of 127.1 = 1000 is

127.1 + 1000 Q&0

1. 0.1271
2 1.271
3. 12.71
4 1271

The area of rectangle whose length 6%cm and breadth
| 2
35 cmis (in cm”)

o) 6% 20.20. $o8a5w» e 3% 0.20.  EOAS

BE S BFego (5.20.0.08)

1. 18l
4
2. 18l
2
3. 22é
4



114. The additive inverse of (I—Z] is

(%} Boo%), Bo5eS IS"SB0
Lo
13
2. L
13
. 2
7
s B



115. “Mathematics is the science of indirect measurement” defined

by

1. Aristotle

2 August Comte
3. Benjamin Pierce
4 Archimedes

“He3BH08 DE°Y STDS FRO” @ I DODII

1. @63;&35
2 XY §°
3. BoRWS He06)
4 38 ED

116. In Affective domain the very highest level objective is

1. Characterisation
2 Naturalisation
3. Imitation
4

Organisation
“ITIE BoKO” & e STon ©550

. orgedsseo
2 $5ed5880
3. 9 08T 0
4 SIS



117. One of the characteristic features of “Inductive Method” is

1. General to specific

2 Known to unknown
3. Concrete to abstract
4

Principle to example
"SRRI DR DY) 8.8 OFEISI
(s} [28)

L groe 0o $H0& (3858 JAcSros
2 BOJS AT 008 BOAD VAT
3. 0080 S0é& 9050808

4 QB0 V0E GIPTTENR

118. This shows the largest amount of learning as per

“Edgar Dale’s cone of experience”

1. Field trips

2 Verbal symbols

3. Dramatic experiences
4

Direct purposeful experience

‘b TS wrTo JowP” So OBIOT AFOSIND
[P O0TSR

I 3 sogse

2 CEAN DoZsren

3. 85587 £9:302353°0

4 @éagg (P RS oI Toen



119. The second step in writing the lesson plan as per
“Herbartian Approach”
1. Association
Generalisation

2
3. Recapitulation
4

Presentation

oS SR80 ©WVOOD FEHEE SSSE°

BOES ABISS0
1. DOJTBo
N
2. D or5edsse0
3. @268033536?}
4. DA ¥EESe0

120. The Academic Standard to be tested through the following
test item

“write the number 7253 in words”

1. Reasoning - Proof

2 Communication

3. Connection

4 Representation - Visualization

“7253 5 500" o°aHos” @i w8go¥o oo
$0§0e5ONS Ay dreaso

L s8eren 3pes - AErHesen Baswe
2 ;sgzawcso

3. ONGISTelnie!

4 @“@20(‘.55?3&)153&3 - CSJ%§§6£3



121.

122.

Pick up the incorrect statement

1.

Lol

Q
1

2.
3
4

Plants release oxygen
Oxygen does not dissolve in water
Oxygen help organisms to live

Animals release Carbon dioxide

85™ TS Q:éo&?o&

Dea) 53y e TFe

ejé(\)zﬁs DBS® 55K

@é&&g (FrenoH A53°ee50

2OHJ TYIGLT)ED e TFo

The attracting capacity of a bar magnet is more at

1.

2.
3.
4.

North pole only

South pole only

Both the poles of the magnet
At the centre of the magnet

28 (OG00S0 By, es5J0T OEEI0 IS GOG
(JPogso

1.

2
3.
4

&8B Sy0 & (G
&53e0 Y50 S5 g
B0 @ORT) 08 SO
@0I°) O ;5365§zp°7{065£



123. This is used as rearview mirror in vehicles

1. Convex mirror

2. Concave mirror

3. Plane mirror

4. Mirror with irregular surface

FrTos® 00HEry W FEatd

1 50837°3°8 cScSo)eao

2 PO)adsylel 656‘3930

3. PRSI CSéo)sao

4 EITSTS0 Ko G§8)e0

124. The unit to measure the consumption of electricity in our
homes is

l. Watt

2 Watt-hour

3. Kilowatt-hour
4 Volt

3 305S° ASogS B B 0SS TE AT

1 ¢S

2 I¢SKOE

3. &8’ Koe
4. 3¢



125. The force acting perpendicular to an unit area of surface is

l. Pressure
2 Work

3. Power
4 Energy

(BSed FT0g0 KO S0P VOWON HIVD 2OIN

1 Dassw
2. 9
3. @mggo
4. %

[—re)

126. Less polluting fuel
1. Coal
2 Petrol
3. Kerosene
4

Natural gas

EOINESLERR SeokBE® 30850

1 3@25"?{/3\

2. 2SS

3. &%

4 DR TAI0)



127. The largest flower in the world is
1. Bird of Paradise

2. Rafflesia
3. Passiflora
4, Bottle Brush

(©590508° &8 g R\

1. 28 &5 e
2. BRhAr

3. FgoLor

4. S

128. The number of cannines, incisors, molars and pre-molars that
present in a human being mouth respectively are

5759 SPRS® &5, £25%, S H8AH SSwen Sosre

60@503 S

. 8,848

2. 4,8,4,12
3. 4,8,12,8
4. 12,4,2,4



129. Usually cotton crops are cultivated in

130.

1.

2
3.
4

Black soil
Red soil
Sandy soil
Laterite Soil

B8 D&% FPFTEN s S0 DO

1

2
3.
4

:\ngiiﬂ& Jeen
G Joen

W Joen
3085 S

The parts in plants that help in gaseous exchange

1.

2
3.
4

Veins, Stomata
Stomata, Lenticels
Veins, Lenticels

Veins, Midrib

InH 08" T7050 VDA VIFCHVE FEEed

1

2
3.
4

L83, JBTogren
JSoren, BoB3d)
Be3e, BoB3d)
B30, SEDBI



131.

132.

The state where Jim Corbett National Park is located

1. Uttar Pradesh

2. Madhya Pradesh
3. Uttarakhand
4. Chhattisgarh

BSTBE JASS >, &) oo

1 Ehte=t]
2. SHe8s
3. &8oop0&
4. SBJ/DE

“Father of white Revolution”

1. Norman Borlag

2. M. S. Swaminadhan
3. J. K. Kurian

4. B.V. Rao

‘tggemg;s DTV
1 méés SR

2 0. AR, FPIWTES
3. B 3 50008

4 9. . O°)



133. This area has the greatest potential for mineral oil and gas in

Andhra Pradesh.

1. Nagavali Vamsadhara basin

2. Krishna Godavari basin

3. Penna and Swarnamukhi basin
4. Keveri Thunga Bhadra basin

eS0|GHBTS” Vres TAMY, DS OCDHO IFTTor ©DoT
(Frogso

1. KIS Sodroe BIS

2 SYL, Aaesd BdS

3. ) $o8A0 KTI0P B

4. 5938, 0K B

134.  The gold coin of Roman period was

l. Pana

2. Besant
3. Nishka
4. Ghatika

8’93 008’ BOMHIEHO
1 JoeTe

2 DY oS
3. Ay

4 28



135.  One of the founder members of ‘Krishna Patrika’ was
1. Mutnoori Krishna Rao
2. Ravi Krishna Reddi
3. Kasinadhuni Nageswara Rao
4.

Gopalakrishna Gokhale

TR HOE SgITH00S” 2,58
1 S00¢77)8 §°)&;ac°:§3

2 oo §°)%;ag

3. STt vﬁ%éc@

4 Rrosy K9S

136. The city in Rajasthan which is very famous for its sweets and
savouries

1. Jaipur
2 Ajmer
3. Bikaner
4

Jaisalmer

TELRSR e SHE0 W00, DOES0LOD (HRY

Slelalelal

1. EORS
2. eﬁéég
3. D56
4. B9



137. ‘Dogger Bank’ is located in this sea
1. Bay of Bengal
2. Arabian sea
3. South China Sea
4. North Sea

“@KE g0’ B BI|E0S” &od.

1 20077 °°PI°e30

2 eODAST HS0(E50
3. &g BE® VS|S0
4 &ST D30

138. The Mount Kilimanjaro is in this country

1. Tanzania

2 Kenya

3. Ghana

4 South Africa

303028 B[S0 Be BF0S &od.
1 £3°023° AT
2 §&5°§

3. OJ°

4

&gerlpse



139.

140.

“Navaratnas’’ were the poets in the court of

1.
2.
3.
4.

Chandragupta Mourya
Chandragupta Vikramaditya

Harshavardhana

Raja Raja Chola

“SSBeEen” 28 SLS EJew

1

2
3.
4

So\rw ST
So\Ko1 AT
portopnTopytlad)

o P
o2 O°28 ST

Bhakta Tukaram belongs to this king’s regime

1.

2
3.
4

Akbar

Sri Krishnadevarayalu
Shivaji

Sambhaji

Y SO°0°0 Hs O°er DOTOIT SPerdd BoQIIE

1.

2
3.
4

@%5

&S pBsoraien
B

Foeroed



141. The important fair for Gonds is

1. Nagoba
2 Gussadi
3. Akipen
4 Dhinsa

FPOHoO% SRS =S8
1 SR e
2 i SEyTe
3. 8D
4 Hor

142. Ifyou dial 104, we will get,

1. free food

2 free medical suggestions
3. a complaint registered

4 banking transactions

104 3022505 P T

1 &DS FuS VP A0 $DYoSLEHB.
2. &dFOm esbKg vt FoESE)

3. DO ST DAL,
4

argoéoﬁ_ P TEIOD 2EKISBCON.



143. The triangular areas formed by alluvial soils are
1. Rivers
2 Deltas
3. Triangles
4

Alluvial soils

2,0 GS° WY& (@berseS (FPoTren
1 Jcoen

2 Geren

3. (@abaren

4 2,08 ZIrSnen

144. A good example for leguminous green manure crop
1. Jeeluga
2 Sugar cane
3. Cabbage
4 Alpha grass

BHWINE ToHS ST DO HOD &I

1. BenX
2. Slet)
3. ?55329

4, eﬁeJ"DKé



145.

146.

One of the following is included in the syntactic structure of

Science

l. Facts

2 Theories
3. Inquiry

4 Concepts

308 IS’ w8 epSTRO BooY), VOFRETSYS Jo7ye208”

FPOLHHBIESD

1 AoTPTPen
(o)

2 DPOS

Q
3. oA
4 ARNINIOV

The specification ‘Reads contemporary history and politics
books, magazines, handouts’ comes under the objective

1. Application
2 Skill

3. Appreciation
4

Interest

“ODTOS TB(ESE, oredoh B0 PITeD, HoAE,
D@50 SEHPW” &N )QEGes 200 oFg0d
002000038

1 AABIK S0
2 é@s@géﬁa&
3. DI0ES
4 LOYAleSIW



147.

148.

“The distribution of plants and animals throughout the world”
can be taught by correlating Biological Science with

1. Geology

2 History

3. Geography
4

Physical Sciences

WK e, BOMIELD [PHDOWBR0EET F°g) BOLE’

Bs 90R) BITROS” Be VPP VPRH02OFO IBYSD
& OIS

1 BrRG) TR0
2. 3B

3. A% R0
4. TS FTw

The percentage of learning is highest through the following

sense

l. Taste
2 Touch
3. Smell
4 Sight

808 a0 (?05_3) oo 28R GYGONO BSEHY FS0S°
G008

(ob13)

1

2 ‘éo)q;

3. O

4 SN SWAN e



149.

150.

‘As per time table, syllabus can be completed within the
prescribed time’ — This statement is most suitable to this
method of teaching.

1. Lecture method
2 Project method
3. Heuristic method
4

Problem solving method

‘TR YA D $5°60 I8 57008 VWD
PRI - Bs (DIIT0 Bs TG DL I
S808.

é‘émg&) CQS@

1 <)
2 (DS HES
3. oR(ReT 958
4

@

DDA WBAYY BFD

Achievement test among the following

1. Rating scale

2 Intelligence test
3. Questionnaire
4 Checklist

308 TAS° FES AsA
1 TE30R ) 0
2 (Gugoty

3. BTI®

4. 3805



